
Stat2470, Quiz #5, Spri

lnstructions: Show all
you do, 'show work' by
entered. Round
deviat ion to two decim
places (or percent plus

L.  A manufactur
defective in the
incidence of d
not sorted, wi
B, with a ratio
what is the pro
pi le to obtain

2 . Suppose sam
is  the  probab i l i t
defect B?

N= 2oo

M t r  t r t

Y l=  b

X ' 5

3 . On average, the
What is the pro

N a m e

You may use your calculator rerther than mpute formulas by hand, but i f
ing which program yo{ used to obtain the
of center to one decin]al  place more than

ult and what information you
data, and variance/standard

places more than the or iginal  datar.  Round
re  dec ima l  p lace) ,

babi l i t ies to three decimal

their  products have been marked
process and reduce the

i r  l ines have been col lected but
' l l  cal l  them defect A, and defe,ct
st three examples of defect A,

more defective products from the
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f rom the scenario above. Whalt
three of defect A and three of

traff ic l ight is LOO cars per hour.
l ight in the next minute?

( % / o ) /* ,  / t ,B?s =  , 8 , 1 I I


